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2
𝑆2Γ𝛿𝑡(𝜎𝐼𝑀𝑃𝐿𝐼𝐸𝐷

2 − 𝜎𝑅𝐸𝐴𝐿𝐼𝑆𝐸𝐷
2 ) 𝑆 Γ 𝜎𝐼𝑀𝑃𝐿𝐼𝐸𝐷

𝜎𝑅𝐸𝐴𝐿𝐼𝑆𝐸𝐷 =
1

√𝛿𝑡
|

𝛿𝑆

𝑆
|
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 

 

 

𝐺𝑢𝑎𝑟𝑎𝑛𝑡𝑒𝑒 𝐶𝑜𝑠𝑡 (𝑎𝑡 𝑦𝑒𝑎𝑟 𝑜𝑛𝑒)
= 0.0324 + 0.146 × 𝐹𝑢𝑛𝑑 𝑉𝑎𝑙𝑢𝑒 − 0.074 × 𝑅𝑎𝑡𝑐ℎ𝑒𝑡 + 2.07 × 𝐹𝑢𝑛𝑑 𝑉𝑎𝑙𝑢𝑒2 + 2.10 × 𝑅𝑎𝑡𝑐ℎ𝑒𝑡2 − 4.14 × 𝐹𝑢𝑛𝑑 𝑉𝑎𝑙𝑢𝑒
× 𝑅𝑎𝑡𝑐ℎ𝑒𝑡





𝐺𝑢𝑎𝑟𝑎𝑛𝑡𝑒𝑒 𝐷𝑒𝑙𝑡𝑎 = −24.3 − 0.00972 × 𝑇𝑖𝑚𝑒 + 17.6 × 𝐹𝑢𝑛𝑑 𝑉𝑎𝑙𝑢𝑒 + 51.6 × 𝑅𝑎𝑡𝑐ℎ𝑒𝑡 + 40.6 × 𝐹𝑢𝑛𝑑 𝑉𝑎𝑙𝑢𝑒2 − 5.10 × 𝑅𝑎𝑡𝑐ℎ𝑒𝑡2

−101 × 𝐹𝑢𝑛𝑑 𝑉𝑎𝑙𝑢𝑒 × 𝑅𝑎𝑡𝑐ℎ𝑒𝑡 − 35.6 × 𝐹𝑢𝑛𝑑 𝑉𝑎𝑙𝑢𝑒3 + 56.0 × 𝐹𝑢𝑛𝑑 𝑉𝑎𝑙𝑢𝑒2 × 𝑅𝑎𝑡𝑐ℎ𝑒𝑡







 

 

Real-world scenario generator Gross Net

Geometric Brownian Motion 3.39% 0.17% 95%

SVJD 6.56% 1.99% 70%

99.5% VaR Hedge 

effectiveness



 





 

 

 



 










